Efficiency vs hit

0.5

efficiency vs hits
o
»

Ratio
e
N

0.05 .4' R X .- |
|

o R

0

i I
°% 10 20 30 40 50 60 70 80
TP hits
—=— DQMsiep3_TT_CKF
—e— DQMstep3_TT_default
—— DQMstep3_TT_ckfPixelLess
— —— DQMstep3_TT_default-relf4
[Efficienc] —— DOMstep3 TT default-relts
o 1.2 .
O :
& F :
@ Jeeeereeeeenmeneees T -
> L N
o .
c I .
O Q.8frrrrerr e R TREE S TREED
] - .
© [
(oXs SRR TR TR S RETTE AR
0.4 e
Re]
T
o
0 5 10 15 20 25
TP layers

2 -

A Sepps
i S T H

0 2 4 6 8 10 12 14 16 18 20

TP 3D layers




	Contents
	Page 1


